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6.7 (a) ym] = x[n-27] + 2x[w) +x[nt27)

This Was Hhe same form as aw FIR flten
with wolkiplies, adds amd delays, so 1+ s
alse LINEAR  awd TIME-INV.,

T+ is NOT. CAUSAL. Here is a counten-~ exa«m?\e‘.
Let xf= S\ a2 —— tais input stonts at n=o.
Thea i) = Lin-201 FS5W) ¥ Snr2))

This cu-\-Pu'}' stonts ot h=-2 6 so i+ stonls
before the inputr => PO -CAVSAL

6.7(b) yin) = nx[n)
CALSAL ¢ Yes yingl = nXxne]  means Hat yine]
depends only om the input at n=n,.
LINEAR ? Yes
Viw)= nx, ) Tf Xl = X,T) + Pxztw) Hew
Y2 W= N X, (W) 7‘ YNY= N (XX TWY + Pxa )
= & (nxIn1) + B (nX21n))

TlME-lN:J? Ne = XY n]) + 3 Y2 In]

When the input is xinl= $inl, Hhe output ©s
Yyinl= nxtwl= n&) = O fer all n.

whew Hhe in‘p\)}- is a”sk({:l-e.d iwx):ulse._“) €.9. X, n= S[n-fj
Hew the ovtput s I = nln-N= 1-§In-1)

Bot y,[u) is wot the shifled versiom of yiui
becavse  yIn) # yIn-]
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6.7(©) yiny = (x-w2)* ar—"FLIP" 2 SRUARE

LINEAR 2 MO_ T xtw=axn] + B X bm) Hiew
y,imy = (X -nT1)" % yixl = (XEWY= (xf-n] + @, 1)
V, W)= (X2 [""l)z = "(X,[—ﬂ) + Q«Px,[m‘l x,,[-n’]-pp (x,_[n'l)
# (%01 + p(%6EN)
Time-Tnv? NO
Let x{n)= 8], Hhew Hhe ootput s yiwl= (§Fn-1)S

Since the systew £lips He mpot awd Sgrares
the ow\?ul— s y{‘.q._ &[.H. ] - SAME

Now shift the m]?ui- X [w]= x[n=11= §[n-21].
The 00{?\)“' 'S Y ln]= ( 8-w- 2]) §[n+27]) “
But vy, [l £ YIa-) becavse Y-} = S+ = 5[.,1_
CAVSAL? MO
TE xinl= $[n-71, +hen y[—'?]: (x(--173)%= (X.[ﬂ)z: !
Se the output ot K=-7, wneeds a valve from Ha P_‘*_J[‘ﬂﬁ




